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value; and lastly the estimated operating and
inventory loss. These columns are then total-
led and a figure of $9,800,000 odd is arrived
at for storage charges. Each column is
totalled, and the estimated inventory loss
amounts to $48,458,986.

Mr. Diefenbaker: What were the storage
charges?

Mr. Mcllraith: In round figures, $9,880,000.

Mr. Danforth: Does that give us the same
breakdown and detail on the values them-
selves or on the operating loss?

[Mr. MeclIlraith.]
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Mr. Mcllraith: It shows item by item in
detail.
Mr. Danforth: The complete inventory?

Mr. Mcllraith: Yes. I think this should
answer all the questions asked.

The Chairman: Is it agreed that this in-
formation be printed in Hansard as part of
the minister’s remarks?

Some hon. Members: Agreed.

[Editor’s note: The table referred to above
is as follows:]



